OPIM 5272 – Business Process Modeling and Data Management
Fall 2019
Homework 3 - SQL

1. Write a query to display the following report:
[image: ]

(the average salary is for all departments found in all countries. The country average salary is the average of salaries for each country, and the last column is the difference between the country average salary and the departmental average salary.) You can use any constructs or functions that apply. 

2. Write a SQL query using a SET operator to show those job ids and titles that employees have not had as positions in the past. Your output should look as follows:
[image: ]

3. Write a SQL query to display what percentage of the employees salary for that job grade is from the total sum salaries that are on the employees table.  Output should look as follows:

(if you run this against the newly populated rows in the c_customers table it will look like this, otherwise…)
[image: ]
(this will be the output if you are using the original employees table)
 [image: ]
   
4. Please write a SQL query that show on average which job promotes people the fastest? Give the full name of the job and the average days employees spend in it. We assume this database only stores current employees. We will also assume the shortest average duration between start and end date on the job_history table is the job that promotes the quickest. You can display all 8 records, or add the where clause and display that one specific job.
[image: ]
Adding this where clause (WHERE rownum = 1) will show you the first row, like so:
[image: ]
** I did not cover this in class, but good to know and this is why I’m incorporating this. Rownum is a pseudocolumn which indicates the row number in a result set retrieved by a SQL query. We can use this to show the top or very first row.

5. Write a sql query to show the location ids and the counts of all departments that are within that location id. In addition, show the list of the department ids as an aggregated list. See output that I am expecting:
[image: ]

6. Do you think it is advisable to automate processes “as is” using workflow technology? Why or why not? In what cases might be useful, and in what cases might this be a waste of time. Give an example of each.

[bookmark: _GoBack]Please submit a .sql file or .text file for the SQL problems. You can include the answer to #6 in the SQL/TEXT file. Thank you.
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{} COUNTRY_ID |4} LOCATION_ID |{} DEPARTMENT _ID |4} AVG_SALARY {} COUNTRY_AVG_SALARY |{} DEPTMT_VS_COUNTRY_DIFFERENCE
tCA 1800 20 9500 9500 0
2UK 2500 8010033.33 10033.33 0
3US 1400 60 6600 8528.57 -1928.57
4US 1500 50 3500 8528.57 -5028.57
5US 1700 10 4400 8528.57 -4128.57
6US 1700 9019333.33 8528.57 10804.76
7US 1700 110 8766.67 8528.57 238.1
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{} GRADE_LEVEL |{} COUNT_POSITIONS |{} SUM_SALARY |[{} AVG_SALARY_PERJOBGRADE |{} PERCENTAGE_OF _SUMSALARY_TOTAL
1C 38293500 7723.68 42.4%
2D 16182016 11376 26.3%
3B 26 95900 3688.46 13.9%
‘B 3 58000 19333.33 8.4%
5A 24 62000 2583.33 9%
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{} GRADE_LEVEL |{} COUNT_POSITIONS |{} SUM_SALARY [{} AVG_SALARY_PERJOBGRADE |{} PERCENTAGE_OF_SUMSALARY_TOTAL
1D 4 46500 11625 26.5%
2 C 6 44900 7483.33 25.6%
A 2 5100 2550 2.9%
‘B 3 58000 19333.33 33%
5B 5 21000 4200 12%
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